ST. LAWRENCE HIGH SCHOOL % ity
A JESUIT CHRISTIAN MINORITY INSTITUTION = \jisE

] e/ ‘-"‘\-'H
Second Term Examination - 2018 W it

Sub :English Grammar Class:6 FM:8 0
Duration:2hrs 30 Mins. Date: 08.08.2018

\. g
2650 M0 L0TRY

GROYUE-A
L MULTIPLE CHOICE QUESTIONS, (1X5=5)
I, Pick out the Adjective of quality.
a. wooden b, several c.Bothad& b d. Nong
2. Pick out a compound adjective.
a. each b. Tall  c. upside-down d. which
3. Participles in a sentence acts as
a. noun b. Pronoun  ¢. adjective d. adverb
4. Which sentence is inthe simple future form?
a. Hesings.  biHe will sing. c. Hesang.  d. He is singing.
‘5. Pick ouf'the adverb of place.
a. almost b. Earfy c. quickly d. everywhere
II. FORM ADJECTIVES FROM THESE WORDS, (1X5=5)
: 1. Hope
2. Beauty
3. Whole
4. Music
5. Care

I FILL IN THE BLANKS WITH THE CORRECT OPTION. (1X5=5)
[. Three minutes - the time given to each delegate to present his argument. (Is/are)
2. The famous singer and composer arrived. (Have/has)
3. Five million rupees __alarge sum. (Are/is)
4, Some of the books on the shelf ___dusty. (Is/are)
5. These oranges fresh. (Look/looks)
IV.MATCH THE FOLLOWING., (1X5=5)
L.Adverb of manner . a. shows us when an action is done
2. Adverb of time b. shows us how often an action is done
3. Adverb of place ¢. shows us how an action is done
4. Adverb of frequency d. answers the question how much
5. Adverb of degree or quantity - , e. answers the question where

V. FILL IN THE BLANKS WITH APPROPRIATE TENSES. (1X5=5)
|, Shyam in the park every evening. (play)
2.1 ~ to New York next year, (travel)
3. This pen : to me. (belong)
4. He was sent to jail because he his sister. (kif})
5. if you don’t'hurry. you  late. (get)

. Section - B
6. Define the following;:

a. Intransitive verb, - (5x2=10)
b. Strong verb.

c. Interrogative adverh.

d. Transitive verb,

e. Compound adjective.

7. Choose the appropriate synonyms for the underlined adjectives:
a. The day calm and 1 could hear birds singing. (peaceful /cloudy)

b. The tired traveler rested under the tree. (weary/excited}

¢. The skinny boy ran faster than the others in the race, (lean/chubby)

{(10x1=10)



£
d. His amazing performance in the play leftus all spellbound. (amusing/extraordinary) &1l
e His last hook was a dull one and did not sell many copies. (an interesting/a thin)
f. The boy understood the complex problem in Physics. (intricate/long)
g. Rahim is as timid as a rabbit in front of his friends. (confident/nervous)
h. The surface of the plank was rough and it was difficult to balance on it. (broad/uneven.)
i. The class was overjoyed on hearing the news of a trip to the jungle. (thrilled/bored)
j. The army was led by the king in the conguest. (invasion/surrender)

8. Fill in the blanks using the present or past perfect forms of the verbs given in the brackets:
(5x1=5)

a. 1 suppose you to bring the receipt. (forget)
b. She many books last summer. (read)
¢. My mother in three different countries. (teach)
- d. Jyoti . a song in memory of her teacher. (sing)
e. She - tall since | saw her last. (grow)
GROUP-C

I. READ THE PASSAGE AND ANSWER THE QUESTIONS. (20)

Global warming is an increasing hazard. As the Earth is getting hotter, disasters like hurricanes, droughts, and floods are
getting more frequent. If the ice sheet over Greentand melts, it could raise sea levels by 20 feet, The disaster will be
sufficient to flood most of the Bangladeshi and Indian coastal regions. Thousands of people will become homeless and our
natural resources will decrease drastically.

The biggest cause of the raising global temperatures is an increase in the amount of carbon dioxide that is released into the
air when fossil fuels are burnt,

If we use renewable sources of energy, it would reduce global warming to a large measure. One such source is wind power,

which is clean and cheap. Also, if fossil fuels are used very sparingly and only when necessary, it would help solve this
crucial probiem of global warming.

A. ANSWER THE FOLLOWING QUESTIONS. (2X5=10)

1. What are the effects of global warming?
"9, Which is the biggest cause for the rise of global temperature?
3. What might reduce global warming to a large extent?
4, Name two rene;wable sources of energy mentioned in the passage.
5. What would happen if the ice-sheet over Greenland melts?
B, WRITE TRUE OR FALSE. (1X5=5)
1, Global warming is an increasing hazard.
2. Use of non-renewable sources of energy would reduce global warming.
3. Extensive use of fossil fucls will help to solve the problem of global warming.
4. Wind power is one of the essential sources of renewable sources of energy.
5. As the earth is getting hotter, disasters like droughts and flood are getting less frequent.

C. PROVIDE SYNONYMS FOR THE FOLLOWING WORDS ¥ROM THE PASSAGE. (1X5=5)

1. Danger 2. Calamity 3. Repeated 4. Bnough 5. Inexhaustible

IL. A year ago, you lent your favorite book to a friend who you thought would enjoy it. Unfortunately, your friend has
forgotten to return it, The book has sentimental value to you as it had been presented by your grandmother. Write an
informal letter to your friend reminding him to return the book fast. (10)
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I, MULTIPLE CHOICE QUESTIONS. (1X5=5)

l.a. wooden  2.c.upside-down 3.c, adjective 4.b. He will sing.  5.d. everywhere

i, FORM ADJECTIVES FROM THESE WORDS, (1X5=5)

1. Hopeful 2, Beautiful 3. Wholesome 4. Musical 3. Careful

IIL. FILL IN THE BLANKS WITH THE CORRECT OPTION, (1X5=5)

1, Three minutes is the time given to each delegate to present his argument, (Is/are)
2. The famous singer and composer hasarrived. (Have/has)

3. Five million rupees is a large sum. {Arefis)

4, Some of the books on the shelfare dusty. {[s/are)

5. These oranges look fresh. (Look/looks)

IV.MATCH THE FOLLOWING., (1X5=5)

1.Adverb of manner ---- ¢. shows us how an action is done

2. Adverb of time  ---- a. shows us when an action is done

3. Adverb of place ---- e. answers the question where

4, Adverd of frequency ---- b. shows us how oflen an action is done

5. Adverb of degree or quantity ---- d. answers the question how much

V. FILL IN THE BLANKS WITH APPROPRIATE TENSES, (1X5=5)
1. Shryam plays in the park every evening. (play)

2. T will travel to New York next year. {travel)

3. This pen belongs to me. {belong)

4. He was sent to jail because he killed his sister. (kill)

5. ¥f you don’t hurry, you will get late. (get)

Section ~ B
6. Define the following: 5x2=10
a. An intransitive verb is a verb that denotes an action which does not pass over to an object or which expresses a state of

heing.

b. A verb whose past tense is formed by a change in the main vowel of the present tense and without the addition of any
ending is called a strong verb.

c. When adverbs are used to ask questions, they are called interrogative adverbs,

d. A transitive verb is a verb that denotes an action which passes over from the subject/doer to the object.

e. Compound adjectives are often joined by hyphens (-). They are groups of words that work together as an adjective, for
example an upside-down car.

7. Choose the appropriate synonyms for the underlined adjectives: 10x1=10

a. The day peaceful and 1 could hear birds singing

b. The weary traveller rested under the tree,

¢. The lean boy ran faster than the others in the race.

d. His extraordinary performance in the play left us all spellbound.



e. His last book was an uninteresting one and did not sell many copies.
f. The boy understood the intricate problem in Physics.
g. Rahim is as nervous as a rabbit in front of his friends.
h. The surface of the plank was uneven and it was difficult to balance on it,
i, The class was thrilled on hearing the news of a trip to the jungle.
j. The army was led by the king in the invasion.
8. Fill in the blanks using the present or past perfect forms of the verbs given in the brackets:
{5x1=5)
a. I suppose you have forgotten to bring the receipt.
b. She had read many books last summer.
c¢. My mother has taught in three different countries.
d. Jyoti had sung a song in memory of her teacher,
€. She has grown tall since | saw her last.
GROUEF-C

LA, ANSWER THE FOLLOWING QUESTIONS, (2X5=10)
1. Due to global warming, disasters like hurricanes, droughts, and floeds are getting more frequent,

2. The biggest cause of the rising temperature is an increase in the amount of carbon dioxide that is released into the air when fossil fuels are
bwrnt.

3. Use of renewable sources of energy would reduce global warming to a large extent,

4. Wind power is one such source of renewable energy, which is clean and cheap. Also fossil fuels if used only when necessary would help solve
this crucial problem of global warming.

5. If the ice sheet over Greenland mekts, it could raise sea levels by 20 feet, The disaster wiil be sufficient to flood most of Bangladeshi and
Indian coastal regions.

1.B. WRITE TRUE OR FALSE, (1X5=5)

1. Global warming is an increasing hazard-True

2. Use of non-renewable sources of energy would reduce global warming- False

3. Extensive use of fossil fuels will help to solve the problem of global warming- False

4, Wind power is one of the essential sources of renewable sources of energy- True

5. As the earth is getting hotter, disasters like droughts and flood are getting less frequent- False

1.C. PROVIDE SYNONYMS FOR THE FOLLOWING WORDS FROM THE PASSAGHE, (1X5=5)

1. Hazard 2. Disaster 3. Frequent 4, Sufficient 5. Renewable

2. The letter should have the following features {Answers are indicative. Explanation required). The letter should state the importance of the
baok and the request to return the book back at the earliest. (10}

Writer's address

Date

Dear ,

Introduction

CONCIUSIOR=mmmm e oo —
Yours lovingly,

Writer’'s name.



